Lesson 8 Working against the Clock Section 3~4 »pp.1251.17-126 .11

Section 3 (p.125 1.17~)

o@Hirose explained to the Afghan people / how Titan IX could help them clear mines. // @To his

surprise, / they did not think / that this robot would work in Afghanistan. // There were a couple of

problems. // gFirst of all, / @it was too expensive. // Second, / @it was difficult to fix / when it broke.

/[ Third, / and most important, / the Afghans were afraid / that it would take away their demining jobs.
I
Section 4 (p.126 ~1.11)

Back in Japan, / Hirose went to work / to solve othe problems he had found in Afghanistan. //

@I he idea he came up with / was to use an ordinary four-wheel vehicle. // He developed Gryphon V

@,/ which has a movable arm @that can locate mines. // gExtending its long arm, / it can mark where

the mines are. // @After that, / Afghan workers can remove #them with simple toolsg, / which means

/ that gthey can keep their jobs. // Gryphon V is much less expensive than Titan IX / and gcan be

easily fixed if it breaks. // And gthis new robot / is simple for Afghan workers to operate. //
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